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Section A: Mental Sums (6 x 1 mark)

Listen to your teacher.
Write your answers in the boxes provided.
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Section B (16 x 1T mark)

Read the questions carefully.

Write the correct answers in the boxes provided.

10.

1.

In 698, the digit 6 stands for

Write eight hundred and five in numerals.

- Write in words.

459

27 > 23+ ?

The largest possible number for the box is

Arrange the following numbers from the greatest to the

smallest.

498

489 | ,| 497 || 479

greatest




12. Fillin the blanks to complete the number pattern.

202, 205, 208, , 214, 217

13. Fill in the boxes.

(q) 561 + 32 =
(b) 869 - 451 =
14.
: 4 9 6
+ 5 9
15.
/ 0 ]
- 3 | 8




16. Look at frhe digifs below,

The greatest even number that can be formed using all the

digits is

17. Use two of the numbers below to complete the addition
equation.

450 550

+ =_]OOO‘




18. Use two of the numbers below to complete the subtraction
equation.

900 | 230 570

- = 340

19. A giraffe and a‘ﬂomingo are standing on some wooden
-blocks as shown below. Each wooden block is 35 cm high.
How tallis ’rhe gu'affe ?

140cm

giraffe flamingo

The giraffe is I cm tall.
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20. Look at the diagram below:

Rope A Rope D

Rope B Rope €
om im  2m 3m 4m ~ 5m 6m ..
(a) The Rope Cis m longer than Rope D.
(b) Arrange the ropes in order of length.
Begin with the longest.
Rope _ . Rope , Rope _ » Rope_____

7m



Section C (4 x 2 marks)

Solve the word problems.
Show your working cleatrly.

21. There are 531 children af ’rhe Z0O.
274 children are boys.
How many girls are there 7

There are girls at the zoo.

22. Mark baked 104 pies on Monday.
He baked 29 more pies on Monday than on Friday.
How many pies did he bake on Friday ?

He baked pies on Fridoy.
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23. Leon cycled 687 m,
Kate cycled 276 m more than Leon.
How far did Kate cycle ?

Kate cycled m.

24.

fce cream shop

% 148 m

520 m

Tim walked 774 m from his school to the ic(e cream
shop. Then, he walked 148 m from the ice cream
shop fo his home. How far did he walk altogether ?

He walked __m aitogether.

e e e End of Paper -—-—--~-=mssmmmmmmmmm s e
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SCHOOL : TAO NAN PRIMARY SCHOOL

LEVEL : PRIMARY 2
SUBJECT : MATH _
TERM : (REVIEW 1) 2022
Q1)
Q2)
Q3)
Q4)
Q5)
Qs)
Q7) | 600
~Q8)__| 805 \
‘69) Fou;r\nhundred and fifty-nine
Q10) |3 —
Q11) | 498, 497,489, 479
Q12) | 211 -
Q13) | a)593
b)418
Q14) | 555
Q15) | 383
Q16) | 514
Q17) | 550+ 450 = 1000
Q18) |570—230 =340
Q19) [175cm
Q20) |a)3m
C,A,B,D
Q21) 531 - 274 = 257
There are 257 girls at the zoo.
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Q22)

104-29 =75

He baked 75 pies on Friday.

Q23) |687 +276 =963
Kate cycled 963 m.
Q24) | 774 +148 =922

He walked 922 m altogether.
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